HAGS'

© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67967 Rev No: O Drawn By: Robin Hjelm
HPL Slide 1.8m 19/1118 Approved By: Jorgen Lindstrand 10f10



BOMID IMAGE QUANTITY DESCRIPTION DOCUMENT ID WEIGHT BOMID IMAGE QUANTITY DESCRIPTION DOCUMENT ID WEIGHT
1 — 1 Protection pipe SW33924 2.55 12 @ 2 Nut, cage M10-t=1.8-3.2 8008815
2 / 1 Cross beam SW63260 7.77 13 12 Countersink washer 8 SW33168 0.0
& Q 1 Ground Stand HPL Slide SW66454 6.58 14 / 1 Clamping bar SW65365 1.63
4 % 1 HPL Wide slide h=1,8m SW67711 149.89 15 ﬁ 5 Screw, 1SO4014-M8x40-8.8 8008349 0.0218
5 6V 1 Mount 33-04445 0.19 16 A 2 Screw, 1SO4017-M10x55-8.8 8008406 0.0448
6 'B 1 Mount t screen right 33-04445 0.19 17 » 6 Screw, 1ISO8677-M8x35-8.8 8039279 0.021
7 @ 2 Cover cap M8 43-04813 0.00 18 f 8 Screw, wood, TKFT-6x40-8.8 8008651 0.01
8 “ 2 Lid for cover cap M8 43-04816 0.00 19 f 12 Screw, wood, TKFT-8x60-8.8 8008646 0.02
9 8 Washer 43-07232 0.00 20 2 Washer ISO7089-10.5x20x2 8050050 0.004
10 / 1 Ground Bar 33-05369 3.5 21 9 Washer ISO7089-8.4x16x1.6 8050049 0.002
11 @ 6 Nut, Fujilok-M8-8-RingA2 8008795 0.006 22 2 Distance for cover cap M8 43-04817 0.00
© Playpower inc
E-post: hags@hags.com
www.hags.com
H AGS® Document: SW67967 Rev No: O Drawn By: Robin Hjelm
HPL Slide 1.8m 19/1118 Approved By: Jorgen Lindstrand 20f10



BOMID IMAGE QUANTITY DESCRIPTION DOCUMENT ID WEIGHT

Washer, Bolt cap 9x18x2-
23 2 1SO4759-3-C 8008849 0.003

© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67967 Rev No: O Drawn By: Robin Hjelm
HPL Slide 1.8m 19/1/18 Approved By: Jorgen Lindstrand 30f10



1.80 m
(70.87 in)

\

fe

ElS

q|e

o|8

Yy

B 3.112m %
(122.52 in)
© Playpower inc
E-post: hags@hags.com
www.hags.com
Document: SW67967 Rev No: O Drawn By: Robin Hjelm

19/1/18 Approved By: Jorgen Lindstrand 40f10

HAGS® HPL Slide 1.8m



N/

© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67967 Rev No: O Drawn By: Robin Hjelm
HPL Slide 1.8m 19/1/18 Approved By: Jorgen Lindstrand 50f10



3 mm
0.19in
o=\

° ° ° ° ° A
{
J 9
g|lc
~|w
o~
~Nlo
—|=
o) o]
\/
© Playpower inc
E-post: hags@hags.com
www.hags.com
Document: SW67967 Rev No: O Drawn By: Robin Hjelm
19/1/18 Approved By: Jorgen Lindstrand 60f10

HA(;S® HPL Slide 1.8m



© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67967 Rev No: O Drawn By: Robin Hjelm
HPL Slide 1.8m 19/1/18 Approved By: Jorgen Lindstrand 70f10



© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67967 Rev No: O Drawn By: Robin Hjelm
HPL Slide 1.8m 19/1/18 Approved By: Jorgen Lindstrand 80f10



© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67967 Rev No: O Drawn By: Robin Hjelm
HPL Slide 1.8m 19/1/18 Approved By: Jorgen Lindstrand 90f10



0.75m
(29.53 in)

© Playpower inc
E-post: hags@hags.com
www.hags.com

HAGS

Document: SW67967
HPL Slide 1.8m

Rev No: O
19/1118

Drawn By: Robin Hjelm
Approved By: Jorgen Lindstrand

100f10



